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Spørgsmål 3.1



StringTokenizer::StringTokenizer( )



: tekst("N/A"), delim("\n "), indeks(0)



{}



StringTokenizer::StringTokenizer(const CString& source)



: tekst(source), delim("\n "), indeks(0)



{}



StringTokenizer::StringTokenizer(const CString& source, 

                                      const CString& delimiters)



: tekst(source), delim(delimiters) , indeks(0)



{}
Spørgsmål 3.2



BOOL StringTokenizer::IsDelimiter(char tegn)



{




for (int i = 0; i < delim.GetLength(); i++)





if (tegn == delim[i])





  return TRUE;




return FALSE;



}
Spørgsmål 3.3



int StringTokenizer::HasMoreTokens()



{




for (int i = indeks; i < tekst.GetLength(); i++)




  if (!IsDelimiter(tekst[i]))




    return TRUE;




return FALSE;



}
Spørgsmål 3.4

     CString StringTokenizer::NextToken()



{




CString token;




//skip delimiters:




int len = tekst.GetLength();




while (indeks < len && IsDelimiter(tekst[indeks]) )




  indeks++;




while (indeks < len && !IsDelimiter(tekst[indeks]) )




{





token = token + tekst[indeks];





indeks++;




}




return token;



}



CString StringTokenizer::NextToken(const CString& delimiters)



{




delim = delimiters;




return NextToken();



}
Spørgsmål 3.5



int StringTokenizer::CountTokens()



{




int antal = 0;




int idx = indeks;  //save indeks




while (NextToken() != "") //den tomme streng eller: HasMoreTokens()




  antal++;




indeks = idx; //restore indeks




return antal;



}





























